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. The wnter was always looking for suitable to use 1n his next story.
A) contents B) articles C) notions D) ideas
. He gave me some very advice on buying a house.
A) precious B) worthy C) precise D) valuable
. You will get to the church more quickly if you take this across the fields.
AY track B) passage C) method D) journey
¢ A landing on Mars 1s within the of current physical theory.
A) scheme B) scepe C) scrape D) scale
. )'Ie was by a'Bee when he was collecting the honey.
A) scratched B) pricked C) tung D) hitten
Don’t go too far into the sea, children, or the waves will you off your feet.
A) flow B) cut C) press D) sweep
The store had no more red shoes , 80 Mary chose brown ones instead.
A) m demand B) in store C) 1 need D) m stock

Bull 18 not a fast runner and he doesn’t have a chance of winming the marathon, but he wail
firushes last

A) keep on B) keep to €) stick out D) stick to

9. Can you me two hundred copies of this article by tomorrow?
A) gves -out B) send'**1n C) wnte*--off D) run---off

10. The current poliical of our country 1s favorahle for foreign mvestments.
A) chmate B) weather C) state D) occasion

1

1. The 1sland they visited last year 1s a paradise for burd-watchers.

A) perfect place B) big nest "C) huge site D) beautiful place

12. Why don’t you engage a carpenter to make you some furniture?

A) employ B) tell C) order D) manmy

13. He has a lot of acquaintances but very few real fnends.

A) colleagues B) close partners C) distant fiends D) advisers

14. The problem of the drug traffic 1s one that plagues many parts of the world.

A) mterests B) concerns C) troubles D) hts

15. Elegantly dressed women of the town called to see Humboldt and Bonpland.

A) Gracefully B) Expensively C) Plamly D) Unusually

16. The recephomst said that he’d see that she got the message.

A) understand B) try to find C) know D) make certan

17. The suspect said that he signed the confession under compulsion.

A) of huis own free willB) under pressure  C) aganst his will D) by chance

18. I'd hke to find out if she confided her plans to them.

A) gave B) explamed C) showed D) revealed

19. I'm rather concemed about how he will take to lus new school.

A) enter B) pay C) ke D) find

20. He looked hornfied and sad 1t couldn’t possibly be true.

A) bewldered B) confused C) termrified D) concerned

the race even if he
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E—8 Dream

A dream is one kind of experience. It seems as real as something that actually happens; in it the dreamer takes action and
\eacts. Dunng dreams, the body is asleep but the thinking part of the brain is wide awake. In fact, it is more active than it
sometimes 18 when the body is awake.

One group of researchers decided to see what would happen if they stopped people from dreaming. As soon as the electro-
encephalograph (B8 El{X) registered (J23%) a dream pattern, researchers woke the dreamer. They did this all night for sev-
eral nights, every time the person started to dream.

The experiment revealed that people who were unable to dream became nervous, easily upset, and hungrier. As soon as
they were able to sleep without interruptions, they lost their nervousness and became normal again; however, they then had more
dreams than usual. It was as if they were catching up on their dreams.

To check these findings, the researchers carried on a control experiment. Again they woke people during the night, but
during non-dreaming periods. These people did not change their daytime behavior. And when they were allowed to sleep without
interruptions, the number of their dreams did not increase.

Experiments like these have caused scientists to ask if dreams serve a purpose. Researchers know, for example, that some
people who go for days without sleep will suffer from hallucinations (4] ) . Certain people even begin to show signs of mental
illness. Some researchers believe that people become this way because they cannot have their usual number of dreams. Accord-
ing to this theory, dreaming helps people to lead normal lives.

21. This passage is chiefly about .
A) people’s need for dreams. B) the damage dreams do to people’s health.
C) dreams and realities. D) the relationship between dreams and diseases.
22. According to the passage, dreams
A) are considered to be people’s real experiences.
B) help cure people of nervousness and mental illness.
C) happen in the thinking part of the brain.
D) cannot go on as before after the dreamer is woken.
23. People who slept with interrupted dreams showed signs of the following sufferings except
A) nervousness. B) anxiety.
C) hunger. D) sleepiness.
24. When people were woken during non-dreaming periods, they
A) suffered from hallucinations. B) felt upset and nervous.
C) had more dreams than usual. D) remained nomal in their daytime behavior.
25. The sentence “It was as if they were catching up on their dreams” in para. 3 probably means
A) they seemed to do as their dreams had told them to.
B) they seemed to make up for the losses of dreams.
C) they seemed to dream less because of the interruptions.
D) they seemed to sleep more after the interruptions.

FZH What will Man be Like in the Future?

What will man be like in the future—in 5,000 or even 50,000 years from now? We can only make a guess, of course, but
we can be sure that he will be different from what he is today. For man is changing slowly all the time.

Let us take an obvious example. Man, even five hundred years ago, was shorter than he is today. Now, on average, men
are about three inches taller. Five hundred years is a relatively short period of time, so we may assume that man will continue to
grow taller.

Again, in the modem world we use our brains a great deal. Even so, we still make use of only about 20% of the brain’s
capacity. As time goes on, however, we shall have to use our brains more and more—and eventually we shall need larger ones!
This is likely to bring about a physical change too: the head, in particular the forehead, will grow larger.

Nowadays our eyes are in constant use. In fact, we use them so much that very often they become weaker and we have to
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wear glasses. But over a very long period of time it is likely that man’s eyes will grow stronger.

On the other hand, we tend to make less use of our arms and legs. These, as a result, are likely to grow weaker. At the
same time, however, our fingers will grow more sensitive because they are used a great deal in modem life.

But what about hair? This will probably disappear from the body altogether in course of time because it does not serve a
useful purpose any longer. In the future, then, both sexes are likely to be bald!

Perhaps all this gives the impression that future man will not be a very attractive creature to look at! This may well be true.
All the same, in spite of all these changes, future man will still have a lot in common with us. He will still be a human being,
with thoughts and emotions similar to our own.

26. Future man is likely to be different from us

A) in almost every way. B) in quite a few ways.

C) in great many ways. D) in one or two ways.
27. The reason for believing that future man will be different is that he

A) began to change five hundred years ago. B) never stops changing.

C) never stops growing. D) has recently begun to change
28. People’s heads will eventually grow larger. This is because their brains

A) will grow faster than at present. B) will be in constant use.

C) will play an important part. D) will need more room than at present.
29. Future man will probably

A) have bigger eyes. B) get weaker eyes.

C) see better. D) have to wear better glasses.
30. Future man’s hair will .

A) grow darker. B) stop growing completely.

C) fall out more often. D) get longer.
| ) = Population Control

According to the best historical and archaeological evidence. it is estimated that it took about 800 thousand to 1 million
years for the earth’s population to reach the 250 million total which existed at the end of the first century after Christ. For some
time after that, disease, famine ({Jl3), and war kept the population increase down to a fraction of 1 per cent a year so that
more than 15 centuries passed before the population reached 500 million. But in the next 250 years, up to 1850, the population
of the world shot up to the 1 billion mark and today it had reached 3 billion. It is predicted by United Nations investigations that
in the next 35 years, the population of the world will double, reaching almost 7 billion by the year 2000.

When experts are asked what is the most effective measure which overpopulation poses, they reply that at least three mea-
sures can be considered:

(A) increasing sources and supply of food for underdeveloped countries;

(B) increasing the industrialization of underdeveloped countries;

(C) regulating births and conceptions.

The experts add, however, that none of the proposed measures can be effective by itself, that all must be combined into an
integrated program. They also agree that without some regulation of conceptions and births, any other measures are doomed to
failure.

31. Our information about the population of the earth before the first century after Christ comes mainly from
A) estimates based on current population growth.
B) references in literature and mythology.
C) estimates based on previous population growth.
D) written records and cultural remains.
32. The population of the world doubled between the year
A) 1850 and today. B) 100 and the year 1600.
C) 100 and the year 1400. D) 1 and the year 100.
33. By the year 2000, the earth’s population will probably exceed its present population by
A) 1 billion. B) 2 billion. C) 3 billion. D) 4 billion.
34. Population growth was most restricted in the period from .
A) 100 B.C. to A.D. 100. B) A.D. 100 to A.D. 1600.



C) A.D. 1600 to A.D. 1850. D) A.D. 1850 to the present.
35. Which of the following would be most likely to discover “archaeological evidence”?
A) an explorer. B) an architect. C) a physician. D) a physicist.
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The Golden Gate Bridge

The Golden Gate Bridge joins the beautiful city of San Francisco with the suburbs to the north. Each day, about one hundr-
ed thousand automobiles cross the bridge taking people to and from the city. Fully half of them cross the bridge during the mom-
ing and evening rush hours, with traffic so heavy, the trip is hardly a pleasure.

Now, however, there is at least one group of happy commuters. These are the people who travel under the bridge instead of
on it. They go to work by boat and enjoy it so much that most of them say they will never go by car again.

The ferry they take is the roomy, quiet, comfortable “Golden Gate”. Commuters can enjoy the sun on deck. In the mom-
ing they can have breakfast in the coffee shop, and in the evening they can order a drink in the bar while watching San
Francisco’s famous skyline and the nearby hills.

The trip takes only thirty minutes and is not very costly. But best of all, being on a boat seems to make people friendlier
toward each other. There has already been a marriage of two commuters who met on the “Golden Gate” .

Because the experiment has been successful, there are plans to use other, still larger boats. There is also a proposal for a
high-speed boat that will make the trip in fifteen minutes.

Not everyone is happy about that. “ A lot of people don’t want to get back and forth faster,” said one commuter, “they feel
that half an hour is just enough time for two drinks at the bar. ”

36. During the moming and evening rush hours, about half of those a cross the Golden Gate Bridge.
37. A group of happy commuters have a pleasure on the f .

38. On the boat, they can relax, enjoy the sunshine and s .

39. A thirty-minute trip on the boat is not very e .

40. The title of the passage can be best replaced by A P under the Bridge.

S UABS R RN (20 NG, S5/NE 1 53, 3K 20 57)
BT EHME, XFPE 220428, 8MEELEHT 4 AT, FRELEXHABTM 4 DL S 5EHE
TREER.

Accurate Measurement

Until Galileo discovered the principle of the pendulum clock early in the 17th century, no one knew how to measure small
fractions of a day with any precision. Some two or three millennia 41 the Christian era, however, Babylonian pnests

42 recording planetary motions with fair accuracy. 43 temple contained a library of such 4
dating from before 3000 B.C., while a 45 set commencing about 747 B. C. proved very 46 to later gen-
erations of astronomers. By 47 seventh century B.C., the movements of the 48 bodies were being regu-
larly recorded at 49 complete system of observatories and reports 50 being sent to the king, who 51
__ the observatories. The Babylonian astronomers of 52 recent times knew enough of astronomy 53 he
able to predict eclipses. Still 54 they made accurate measures of other 55 periods. Precise knowledge of
this kind 56 with it a limited power of 57 and predicting the astronomical future, and 58 no

doubt accounts for the phenomenal 55 of astrology in Babylonia, and the 60 prestige which the Babyloni-
an astrologers enjoyed throughout the ancient world.

41. A) from B) before C) after D) until

42. A) found B) could C) were D) did

43, A) One B) The C) That D) Another
44. A) actions B) views C) scenes D) observations
45. A) since B) later C) forward D) accurate
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. A) valuable
47.
48.
49.
50.
51.
52.
53.
. A) working
55.
56.
57.
58.
59.
. A) amazing

A) that

A) star

A) their

A) could

A) controlled
A) late

A) so

A) astronomical
A) was

A) telling

A) these

A) time

B) helping
B) the

B) astronomy
B) something
B) were

B) ordered
B) more

B) for

B) recently
B) recent

B) carried
B) foreseeing
B) those

B) place

B) prestigious

C) use

C) this

C) heavenly
C) this

C) been

C) saw

C) since

C) that

C) later

C) interested
C) went

C) thinking

C) were

C) vogue

C) impressed

D) pure
D) about
D) sky

D) a

D) always
D) entered
D) those
D) to

D) closer
D) serious
D) along
D) viewing
D) this
D) custom
D) big
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1.Hardly had the van turned the comer when one of the back wheels

A)broke away B) tumed round C) came off D)rolled down
2.The for the new city hall has been chosen.

A)sight B) sigh C) site D) seat
3. His magnificent house is the of all his friends.

A)admire B) praise C)jealousy D)envy
4.1f you're at a(n) ends, you could help me in the garden.

A)open B)free C)loose D) empty
S)This contract was _____ for three months.

A) available B)effect C)forceful D) good
6.We all feel that his jokes about immigrants were in very poor .

A)form B)view C)feeling D)taste
7.The dog is generally if it is left undisturbed.

A)serious B) peaceful C) sociable D)calm
8.When I got my case back, it had been damaged repair.

A)above B) beyond C)over D) further
9. Because she hates dishonesty she is her son when he tells lies.

A)strict on B)heavy on C)hard on D)tight on
10.Today’ s newspaper has interesting article on space travel.

A)quite an B)nearly an C)a parly D)an almost
11. Many fine cooks insist on ingredients of the highest quality.

A)demand B)rely on C) prepare for D) create
12. A will is a document written to ensure that the wishes of the deceased are realized.

A)fulfilled B) affiliated C) advocated D) received
13.She was grateful to him for being so good to her.

A) helpful B)hateful C) delightful D) thankful
141t is seldom acceptable to abbreviate words in formal writing.

A) omit B) explain C)invent D)shorten
15.The company recommended that a new petrol station be built here.

A)ordered B)insisted C) suggested D) demanded
16.If you have any complaint, please see the manager.

A) protest B)criticism C) suggestion D) fauit
17.. Practically all species of animals communicate either through sounds or through a large repertory of soundless codes.

A) Simultaneously B) Almost C) Absolutely D) Basically
18.We shall take the treasure away to a safe place.

A)clean B) pretty C)distant D)secure
19.Jim has gained so much weight that a lot of his clothes don't fit him any more.

A)put off B)put down C)put on D)put up
20. There is no resolution to this conflict.

A)decision B) condition C)action D) disagreement
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F—8
The Olympic

The Olympic Games are held every four years in a different city in the world. Athletes from many countries compete in a
variety of sports which are divided into winter and summer games.

The Olympics began in Greece more than 2700 years ago. The games were originally part of a religious festival in honor of
the Greek gods. Eventually, the games became the most important festival in all of Greece.

The first recorded Olympic competitior was held in 776 B. C.. It was held in an outdoor stadium which was about 200
meters long and 30 meters wide. The stadium was in a valley, and about forty thousand people watched the event. The first thir-

teen Olympics consisted of only one race - — running.
Since 776 B.C. , the games had been held regularly for about 1200 years. In 397 the Olympics were prohibited by the Ro-
man Emperor.

It was not until 1896 that the first Olympics of modem time were held in Athens. From then on the games are held every
four years regularly. The Olympics have become the world’ s most important athletic events and a symbol of the sporting friend-
ship of all the people of the world.

21.The Olympic Games were originally held
A) as a harvest festival in Greece
B) as a religious festival in Greece
C) as a spring festival in Greece
D) as an autumn festival in Greece
22.The first modem Olympic Games were held
A) about 100 years ago
B) about 200 years ago
C) about 251 years ago
D) about 300 years ago
23.We learn from the selection that .
A) ancient Greeks did not treat the Olympic Games seriously
B) all ancient Greeks took part in the Olympic Games
C) ancient Greeks regarded the Olympic Games as their important festival
D) the Olympic Games later became a symbol of church
24 . What does this selection mainly tell us ?
A) The history of the Olympic Games.
B) Various sporting events of the Olympic Games,
C) The standard size of an Olympic stadium.
D) Several important athletic events in ancient Greece.
25.Which of the following statement is false?
A) The Olympic Games were once prohibited.
B) The first recorded Olympic competition was held in honor of the Roman Emperor.
C) Running used to be the only sporting event in the ancient Olympic Games .
D) Today the Olympic Games are the world’ s most important athletic events.

SR
Tokyo

Tokyo is one of those places that you can love and hate at the same time.

In Tokyo there are always too many people in the places where I want to be. Of course there are too many cars. The Japa-
nese drive very fast when they can but in Tokyo they often spend a long time in traffic jams. Tokyo is not different from London,
Paris and New York in that. It is different when one wants to work.

At certain times of the day there are a lot of people on foot in London’ s Oxford Street. But the streets near the Ginza in To-
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kyo always have a lot of people on foot, and sometimes it is really difficult to walk. People are very polite; there are just too
many of them.

The worst time to be in the street is at 11;30 at night. That is when the night — clubs are closing and everybody wants to go
home. There are 35,000 night - clubs in Tokyo, and you do not ofter see one that is empty.

During the day , most people travel to and from work by train. Tokyo people buy six million train tickets everyday. At most
stations, trains arive every two or three minutes, but at certain hours there do not seem to be enough trains. Although they are
usually crowded, Japanese trains are very good. They always leave and arrive on time.

On a London train you could see everybody reading a newspaper. In Tokyo trains everybody in a seat seems to be asleep,
whether his journey is long or short.

In Tokyo, I stood outside the station for five minutes. Three fire engines raced past on the way to one of the many fires that
Tokyo has every day. Tokyo has so many surprises that none of them can really surprise me now. |

26. Tokyo is different from London in that .
A) it is a cosmopolitan city
B)it has a large population
C) its people are friendlier and more polite
D) it is more difficult to go somewhere on foot
27. What time does the writer think is the worst time to go into the street?
A)11:30 a.m
B) 8 o’ clock in the moming
C) when the train is overcrowded
D) when the night ~ clubs are closing
28. What does the writer say about Japanese trains?
A)There are not enough trains.
B)They often run behind schedule.
C) They leave and arrive on schedule.
D) They are very nice and comforable.
29. In Tokyo trains, every Japanese sitting in the seat
A)falls asleep
B)reads newspapers
C)looks out of the windows
D) browses through a magazine
30. From the writer’s observation, we can see that fires break out
A) very rarely
B) occasionally
C) quite frequently
D)only several times a day

E=H
Thanksgiving Day

The American Thanksgiving Day celebration goes back to 1621. In the year, a special dinner was prepared in Plymouth,
Massachusetts. The people who had settled there had left England because they were forbidden to keep their religious belief.
They came to the new land and faced difficulties in sailing across the ocean. The ship which carried them was called “the May-
flower " . The North Atlantic was hard to travel. There were bad storms and huge waves. With the help of the Indians , they
learned to live in the new land. These Puritans, as they were called, had much to be thankful for. They could enjoy religious
freedom. They leamed how to grow their crops in accordance with the climate and soil. Now when they selected the fourth
Thursday of November for their Thanksgiving celebration, they invited their neighbors, the Indians, to join them in dinner. They
also wanted to pray God for the new life. They recalled the group of 102 men, women and children who left England. They re-
membered those who did not live to see the shores of Massachusetts. They thought of the 65 day’ s journey which tested their
strength.

31. The first celebration of a day of Thanksgiving is about
A) 100 years ago B) 200 years ago
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C)300 years ago D)400 years ago
32. Why had they left England?
A) Because of religious problem B) To set up a new religion

C) To learn new farming. D) Because of the Indians.

33. The climate and soil in Massachusetts are .
A) similar to that of England B) different from that of England
C) similar to that of Plymouth D) different from that of Plymouth

34.They gave thanks while remembering
A) the new society of Indians
B) their friends who died on the way to the new land
C)their former religion
D)to invite the Indians

35. How long did the trip last?
A) 6 weeks B) 2 months or more
C) half a year D) 102 days
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The Great Mystery of Nature

In earliest times, men considered lightning to be one of the great mysteries of nature. Some ancient people believed that
lightning and thunder were the weapons of the gods. In reality lightning is a flow of electricity formed high above the earth. A
single flash of lightning 1.6 kilometers long has enough electricity to light one million light bulbs (XT#2) . The American scien-
tist and statesman, Benjamin Franklin, was the first to show the connection between electricity and lightning in 1752. In the
same year he also built the first lightning rod. This device protects buildings from damage by lightning.

Modem science has discovered that one stroke (i5) of lightning contains more than 15 million volts. A spark between a
cloud and the earth may be as long as 13 kilometers, and travel at a speed of 30 million meters per second.

Scientists estimate that there are about 2000 million flashes of lightning per year. Lightning hits the Empire State Building
in New York City 30 to 48 times a year. In the United States alone it kills an average of one person every day.

The safest place to be in case of an electrical storm is in a closed car. Outside, one should go to low ground and not get
under trees. Also, one should stay out of water and away from metal fences. Inside a house, people should avoid open door
ways and windows and not touch wires or metal things.

With lightning, it is better to be safe than sorry!

36. People once thought lightning came from the g

37. According to the passage all buildings need lightnig

38. Lightning can travel at a very great s

39. The Empire State Building frequently get h by lightning.
40. When there is an electric storm, you'd better stay away from w
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Water

early three — quarter of the Earth is covered 41 water. Water heat up 42 slowly than land, but once
i1 has become warm it takes longer to 43 down. K the Earth’s surface 44 entirely land, the temperature at
mght 45 quite quickly and night would be much 46 than day, 47 it is on the moon. This does
48 happen in inland deserts, hundreds of miles from any 49 . The climate of the continents, especially in the

temperature 50 , is very much affected by the oceans 51 them. The areas 52 to the sea have a
maritime climate, 53 rather cool summers and warm winters. The interiors, far from the sea, have a 54
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climate with extremely

hot summers and cold winters.
from the evaporation of rivers, seas and lakes. Even after heavy rain, the pavements in city 56
the rainwater evaporates into the air. In a warm 58

day it evaporates very rapidly,

warm air can absorb more moisture than cold air. But at any particular temperature, the atmosphere can hold only a

Rain 55

__ take long to dry 57

59

certain maximum 60 of water vapour.
41..A) by B)in C)with
42. A)much B) more C) rather
43. A)cool B)warm C)calm
44. Adhas been B)is C)are
45. A)will be fallen B)would fall C) could be fallen
46. A)hotter B) warner C)colder
47. A)while B)as C)since
48. A)in deed B)in fact C)deed
49. A)earth B) ocean C)water
50. A)zones B)place C) position
S51. A)off B)with C) around
52. A)close B)was closed to C)closes
53. A)in B) with C)for
54. A)inland B)oceanic C) mountainous
55. A)comes B)is coming C)has come
56. A)is not B)has not C)do not
57. A)for B) because C)since
58. A)dry B) drought C)dried
59. A)except B)now that Ces
60. A)amount B) number C) begree

D.at)

D)less

D) quiet

D) were

D) may be fallen
D) cooler

D) where
D)indeed
D)sea

D) district
D)of

D) closed
D)because

D) continental
D)was coming
D) may not
D)as

D)hot

D)due to

D) plenty
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1. He won the prize although he didn’t really it.

A)accept B) worth C) preserve D) deserve
2. They have got everything ready to make a across the Atlantic.

A) trip B) joumey C) travel D) voyage
3. How exactly did you set training the horses to work so well together?

A)up B)to C) about D)out
4.The product was withdrawn from sale because there was no longer any for it.

A)call B) interest C) claim D)order
5.The injured man was taken to hospital and for internal injuries.

A)cured B)healed C) operated D) treated
6. of the financial crisis, all they could do was hold on and hope that things would improve.

A) At the bottom B) At the height C)On the top D)In the end
7. Itisof importance to improve the quality of our products.

A) complete B)basic C) serious D) primary
8. The press went too far, and suffered .

A) accordingly B) nevertheless C) however D) moreover
9. Washing machine of this type will certainly up to normal domestic use.

A)hold B)stand C) come D)take
10. They’ re going to central heating in the huilding.

A)include B)install C) connect D) conduct

11. After making observations for a week in the plant, the industrial engineer made a number of very constructive suggestions in
an oral report to the manager.

A) careful B) cautious C) deserved D) helpful
12. Of the reptile groups, the snake group was the final one to appear.
A)last B)best C) ugliest D)longest
13. Can you account for your absence from the class last Thursday?
A)explain B) examine C) excuse D) expand
14. The steadily rising cost of labor on the waterfont has greatly increased the cost of shipping cargo by water.
A) continuously B) quickly C) excessively D) exceptionally
15. Sulphur has occasionally been found in the earth in an almost pure state.
A) regularly B)accidentally C) sometimes D)successfully
16.1In the past, billboards were largely the preserve of advertisers of such products as beverages and tobacco.
A)for the most part B)in some areas C)without exception D)by rights
17.1 hope you have left none of your belongings in the hotel.
A) documents B) possessions C) children D) clothes
18. Ambition is a characteristic of all successful businessmen.
A)factor B) feature C)sign D) symbol
19. If seized and taken to the forest, the city monkeys will always return home when released.
A)set down B) settled down C)set free D)set relaxed
20. Your husband sent the letter to us shortly before he passed away.
A)survived B)died C)departed D) descended



